BHQ1—2 XFN

DF & TR Lo

3Xb5#%, 35
YE&+T bl unwh L wvwai
axXb i,

&Y,

T¥ETETY, 20—

D 3
Tlase,

axX3<°3Xald

Y& d, 2ol —Ib%

s)2 ‘J—,.
scnvr. W Fu

A B () R’R&L

ot [ iEomenmps

DHTERT,

3—2=1THoHhb,

3a—2a=1a chsn,

1a il

ICHE (.

-

XFNHBELTWTH
ZOXFVHLHEEERL TV

B (.
7C 11

6l U3 OFfE I
TH#T,

Fhwz, AXa i,

ERT,

2—3=—1vssirb,
2a—3a=—1a &3,

— 1 a i<

1




ZBQL—2 XFX

flic e > THEX AR E W,

T

A

F3a—2a

|

3a—ba

—3a+2a

—3a+5ba

—a3a—29

|

|

—3a—ba

|

|

rtoMEOTO X HRRICHEL, BAERDBEI Vg

|

(—3a)+(—2a)

(—3a)—(—2a) =
(—3a)+(—3a) =
(—3a)—(—3a) =
(—3a)+(—ba) =

(—38a)—(—bha) =



QL2 XFA

O+ —& T,
(—38a) X (+4a)

(—4a) X0

]—12a)x(—2a)

6a—(—2a)

0-+(—2a)

! (—2a)3

_ (—3a)2

—(2a)3

—9a3-+(—2a)
! (—2a3)+(—2a)

B ) KRE

(—0.2a)+( —0.3a)

—(—0.3a)+( —0.2a)
_(+0.2a)+( -0.3a)

(+0.2a) —(+0.3a)

_('0.2a) —(-0.5a)
h(-0.5a) —(-0.2a)

_(+0.2a) —(-0.5a)

0.2a OWEIX

(
—0.2 a DL

(



B Q1-2 XFA A B ) K& |

1 1 ( —Z )2=
>3~ 32 z
—_ )3_

o (—2 -
1 1 3 Yo_
11 (=2 )=
37 (=2 )et( =2 )z
_| 2 3
1,1 |

;a—3a |
— —2 (=2
_a_a =

3 2
— —2 - —= )2
_a,a (_3) ( 2)

4 3 =



LW Q1-2 LFAN A B( ) KRS I

a,b,c = 3a—2¢

Il

a=2|b=3|c=—4

ThBE, WOROEERDR I,

3a—2b (=32) —(=20)
(—3a) —(—2b)  (—3a) + (—20)
C3a)+(=2) =y (a0
(—3a) —(—2b) i
= (—38a) + (—5¢)
(—3a)+(—5b) =

(—3a) —(—5c)

(RN /I-\ Il
o
o
SN
|
T
Ot
o
e

i




B QL2 XFR

WOEY, XFRNTRLRIV,

100a ET, a MO EE T
BoYix

(M)
1{8 a Mo aE
7EE - -4

(M)

5255 Qem. 175 Dem o
EFEOmBET

(cm2)

EX Qem OTF— 7% 5 %55 LTzKD
1 ROE XX

(cm)

50 HOYIF atie &
80 MOEIF b # & E - IR R& i

(1) |

a F® 3 HIHHIT

a( ) Ral

13805 em OIEFFEOHEMEIL

(cm?2)

F7% em. 1S 72% Dem 0

AT IUIATE O AR

(cm2)

S Qem & Pem @

O Lo mER

(cm?)

H220 Lem O F ORI

(cm2)

4

134755 &em O FEDREAEIL

(cm2)

13075 8em DO HFEOEREIL

(cm3)




